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T EUEH, T3 AT 1 20 T & Tgfywedty e & | gt we7 rfard € |

(1) 2AgCl—2Ag+(Cl
(11) CaCO, — CaO + CO,
() 2H,0-2H,+0,

(v) 2 KCIO; — 2KCI+3 O,

(A) () T (i) (B) (ii) U (iii)
(C) (i) W (iv) (D) (i) T (iv)
2. 39 U A feu @ = wavii A, B 3R C & ety foemm 2 - 1
A — URfIEw ATSee
B - 3HIH3IH FIRISE
C - difsgm FEme
37 faeaa1 % pH 1 3R0E! (Fga1) FA & :
(A) A<B<C (B) B<(C<A
(C)  C<A<B D) B<A<(C

3. e & i wF U UTq A9 FHU 379 & ATF18E hl WA a9 o BRI GER I Gl

(Tierd) @&l 8 2 1
(A) TUHHEAEH (B) HIKW
(C) fae: (D) Tee

~~
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SECTION - A

(20 x 1 =20)

In this section, Question Nos. 1 to 20 are Multiple-Choice Questions.

All questions are compulsory.

Example of thermal decomposition reaction are
i) 2AgCl— 2Ag+Cl,

(i) CaCO, — CaO + CO,

(iii) 2H,0 - 2H,+ 0,

iv) 2KClO;— 2KCl+30,

(A) (i) and (ii) (B) (ii) and (iii)

(C) (i11) and (1v) (D) (i1) and (1v)

You have three aqueous solutions A, B and C as given below :

A¥ e - Potassium nitrate
B Ammonium chloride
s s Sodium carbonate

The ascending order of the pH of these solutions 1s :
(A) A<B<C (B B<C<A
(C) -U=<A<SD (D) B<A<C

Which one of the following metals is protected from corrosion by a layer of

1ts own oxide ?
(A) Aluminium (B) Copper
(C) Silver (D) Gold

~
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(A) e
(C) dtem

(B) i &
(D) T U

5. Tl et i & 38 wfive < s 3 A ) awoda it & geatd T8
(A) C,Hy
©) C;Hy,

B) C;Hyy,
(D) Cyo Hyo

6. frafafea 3 & frm e o1 9o SufRXA R 7
(@) fores
(iii) € 1 FE
(A) (i) 3R (iv)
(C) () 3N (iii)

(ii) AR 36 Ui
(iv) sferarE
(B) (i) 3N (iii)
D) (@) 3N (iv)

7. zaelt @1 @ 1S fTenT B e AT 8 | 391 HRU Tk THE e A i Iufeafd 2
ST m 2
(A) THIeH I
(C) Teafcrs 3T

-y

(B) HYATEH 3T
(D) e 3

8. fTerdt =i # forega 3mma fohq YR THA FHEAT 2 7
(A) dfeR &1 3ifem faw — e — HIRERRR — g
(B) gfaert — wif¥rbrm — dfierer — dfen 1 3ifam &
(C) HIfSrHTHT — it — e — dfaes 1 sifem faa
(D) gfw1 — dhrE — dfie &1 sifaw faa — FifswEE

*31/6/3*
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4. The colour of the solution observed after about 1 hour of placing iron nails
in copper sulphate solution is 1
(A) Blue (B) Pale green
(C) Yellow (D) Reddish brown
5. A Hydrocarbon which does not belong to the same homologous series of
carbon compounds 1s 1
(A) C4 HlO (B) CG Hl4
(C) C7 H14 (D) C10 H22
6. The water of crystallization is present in 1
(i) Bleaching Powder (i) Plaster of Paris
(111) Washing Soda (iv) Baking Soda
(A) (i1) and (v) (B) (i1) and (111)
(C) () and (111) (D) (@) and (iv)
7 Juice of tamarind turns blue litmus to red. It is because of the presence of
a chemical compound called 1
(A) Acetic acid (B) Methanoic acid
(C) Oxalic acid (D) Tartaric acid
8. Electrical impulse travels in a neuron from 1
(A) Nerve ending — Axon — Cell body — Dendrite
(B) Dendrite — Cell body — Axon — Nerve ending
(C) Cell body — Dendrite — Axon — Nerve ending
(D) Dendrite — Axon — Nerve ending — Cell body
*31/6/3* a [ P.T.O.]
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9. fTrdt o= e i (TTRR)méua%;qﬁﬁwMaﬁgﬁaﬂﬁ(ttrr)mm%
T & FTY GHT FF F. gafa g 1

(A)  25% =l M S areh
(C)  75% ==t gifer i areh

(B) 50% et giier =t areft
(D) 100% et e &ftft areft

10. Y % IoHSH 7 1 IR Frcies s & — ‘ 1
(A) FIHIY (B) wzmm
(C) = (D) A

11. Fr=fefEs 3 @+ 91 0 wedt 1 scafsia I 781 @ ? 1
(A) CO, (B) ==
(C) M 3R e (D) Ta SRR

12. THEd ITER 91 § 3T Tl gra |ifad 9reeh @i ° 8id 8 1

A) oo, fefem, afem

(B) TISSIaAlie 377, Ui, versa
(C) w3y, foawE, vers

(D) <R Tfers, 9fe, foaE

13. 94 43 § 93 @ d 61 Tehal 1
(A) FEaEd? |
(B) ® gfg <t a2 |
(C) # HlFI S a2 |
(D) W % FTHR Fgel A ged 2 |

*31/6/3* °
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9. A tall pea plant with round seeds (TTRR) is crossed with a short pea plant

with wrinkled seeds (ttrr). The F, generation will be 1
(A) 25% tall with round seeds (B) 50% tall with wrinkled seeds
(C) 75% tall with wrinkled seeds (D) 100% tall with round seeds

10. The basic filtration unit of the excretory system in human beings 1s : 1
(A) Nephron (B) Urethra
(C) Neuron (D) Urinary bladder

11. Which one of the following is not an excretory product in plants ? 1
(A) CO, (B) Starch
(C) Resins and gums (D) Dead cells

12. In human alimentary canal, the digestive juice secreted by the gastric
glands are 1
(A) Bile, Trypsin, Pepsin
(B) Hydrochloric acid, Pepsin, Mucus
(C) Lipase, Bile, Mucus
(D) Salivary amylase, Pepsin, Bile

13. The curvature of eye lens of human eye |
(A) 1s fixed.
(B) can be increased.
(C) can be decreased.
(D) increases or decreases as the case may be.

*31/6/3* ° [P.T.O. ]
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Faae o | > s # 14. Identify from the following the ray diagram which shows the correct path
IS & TvETd &1 (qrafda fortor 1) aet o qurian T ?: 1 of the reflected ray for the ray incident on a concave mirror as shown : 1
> >
—_— P —— —— P
C F C F
(B) (A) (B)
P |
C F |
i
C
©) - D) - 1 ()
p
C F
2 e . 15. In the following groups of wastes, which group contains only non-
15. 37aRret & 9 feu o anE # & frad vt srafire s - svuea € ? 1 .
) i} biodegradable wastes ? 1
@ bisbd S o (A) Leather f Plastic plate, Polythene b
, , eather footwear, Plastic plate, Folythene bag
ZaTedl 1 WreAt Fiad HMerat, ueqfafaag & &
(B) I ﬁ ’ (B) Empty medicine bottle, Milk packet, Aluminium can
(C) 37Em Fi Tft = feraf, T & feed, wie 1 et (C) Used tea leaves, Cardboard box, Iron nail
(D) e &I i, Fa=R-14, did qige 9 (D) Plastic Syringes, Newspaper, Ball point pen
16. = &1 T JAER ’ﬂ@?ﬂ 97 foram I : 16. Consider the following food chain :
urE — feger — des — A — Hid 1 Grass — Grasshopper — Frog — Snake — Eagle 1
afe g 91t TR T 39T Sl 1 /T 50 kdJ 2, A 3 T W I9ered S5t & 7T oft — If the amount of energy available at third trophic level is 50 kdJ, the available
energy at the producer level :
(A) 0.5kJ (B) 5kd (A) goys ke ) s (B) 5kd
(C) 500 kd (D) 5000 kJ ‘
(C) 500 kd (D) 5000 kd
Lo oobs *31/6/3% @ [ P.T.O. ]
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ST FEAT 17 | 20 1fapys — Hwor @ 3mia v § -

A Q FUF - i (A) 3R FT (R) R e # 1 @ v % I AR g

FFER 3tea fased (A), (B), (C) 3k (D) ¥ g7 g -

(A) g (A) 3R S0 (R) 3F1 w8 & 7w S (R) gR1 AEYA (A) F FE
AT E &R |

(B) 31hsua (A) 3R #R0 (R) SHI @€l &, 9 ST (R) g0 AR (A) T T
ST € B @1 2 |

(C) Y= (A) H&1 2, g 0T (R) Teid ¢ |

~

(D) 3Ty (A) Te7d 8, g HRU (R) T 2 |

17. HANHYA (A) : TS Fash TE1 g1 Fel & ITH Fel 3R @Sl 1 987 Hd 8 |
HIT (R) : STSeTH Hd% ool G4 ! TSl J &1 /&7 J1a1 2 |
18. INHUA (A) : FTaq 3R 39 AMfiTeh TAR $9-1 & YgE@ FG ¢ |
ST (R) : 787 & AT e o W 3Tcaftres F1 3R JehreT &1 7 Hd 8 |
19. RHYT (A) : ITER I et Tl § weferd %3 SATER @l 1 A2awh e ¢ |
F1U (R) : 3TER ST fdl 91ftas & Sfaea HI FH A @ |
20. HFYA (A) : TH ule] IOYl § YEEIS ar 4y % sfid agd Teus W R urg
e & I g1 2 |
%17 (R) : Y9 1 98 giafvad st 2 for aifam & aifees smaw 4 faga g &1
I3 & BH W 39 Gy #1 fawa 4y & fawa & Fuar g Fw 3k arfem #
39T FHH ATeN1 A it faega 3amana & geferd @=n @ |
*31/6/3%
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Q. Nos. 17 to 20, two statements are given — one labelled as Assertion (A)

and the other labelled as Reason (R). Select the correct answer to these

questions from the codes (A), (B), (C) and (D) as given below :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of the Assertion (A).

(C) Assertion (A) 1s true, but Reason (R) 18 false.

(D) Assertion (A) is false, but Reason (R) is true.

17. Assertion (A) : Xylem tissue moves water and minerals obtained from

] the soil by the roots. 1
Reason (R) : Xylem tissue is found only in the roots of a plant.
18. Assertion (A) : Carbon and its compounds are our major sources of fuels. 1
1 Reason (R) : Most of the carbon compounds on burning release a large
amount of heat and light.
1 f 19. Assertion (A) : Food web 1s a network of several food chains operating in
an ecosystem. 1
Reason (R) : Food web decreases the stability of an ecosystem.
|
| 20. Assertion (A): In the common domestic circuits the earth wire 1is
connected to a metallic plate buried deep inside the earth. 1
Reason (R) : Earth wire ensures that any leakage of current to the
metallic body of the appliance keeps its potential to that of the earth,
so the user may not get a severe electric shock.
%31/6/3* @ [ P.T.O. ]
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¥ HEIT 21 @ 26 A TY-IT T E | RS T H 2 3F § |

21. YU W (i) G w1 & a1 (ii) 319 vl F w9 F yrft s areh ferdlt utg F1 AW
ferfeT | 3eeie Fifs fr argart i afiraar 3oft § 338 @ yRs uq ) el T AR |

22. feumu smE w1 avewgs Fife R aream 1 @ Ao 2 § e Rt et e TR
& QY ) ST AT E |

FTqfaq festor

HTeqH 1
HIEIH 2

i

(a) feu e @) qreadi — mrea 1 3R ATean 2 # & fera e i =1 HAfUw 2 7

(b) 3Tuafda fertor & fiera & 1 () T &1 HRO fAIRaT |
(c) TeaT 1 % e TSI 2 % 3799d1e BT 39 € ATl § Wty i 91 & 9al d
It ShIToTT |

(i) e FaTs W I g I 1 ATHT HIer Fdid ardl 2 |
(ii) @A & Fhd (faaet) &1 619 AT TTH1 BT 2 |

AT

(b) TEUATFE ? “BH TN H $3UTY hael 991 o IvdId gl g@d & |” & 7

*31/6/3*
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21. ,

22.

23.

*31/6/3*

metals. 2
Study the figure in which the path of a ray of light going from Medium 1 to
Medium 2 is shown.
Incident Ray
i
|
:
: Medium 1
E Medium 2
:
I
Refracted Ray
(a) Out of the two Media — Medium 1 and Medium 2, in which is the
speed of light more ? 2
(b) State reason of bending of the refracted ray away from the normal. DM
(¢) Express refractive index of Medium 2 with respect to Medium 1 in
terms of speed of light in two medaa. . N 2
P’\'}\ MY
(a) Give reasons :
(1) The sky appears dark to passengers flying at very high altitude.
(11) ‘Danger’ signal lights are red in colour. 2
OR
(b) What is a rainbow ? “We see a rainbow in the sky only after the
rainfall.” Why ? 2
@ [ P.T.O. ]
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SECTION - B

Question Nos. 21 to 26 are very short answer type questions. Each
question carries 2 marks.

Name a metal found in the earth’s crust

(1) 1in free state and

(ii) in the form of its compound.
State where each of these metals are placed in the reactivity series of

~




chemical equation for this reaction.

98. (a) oFHT AIE % 3T TARMNS 07 F1 Iooi@ Hi fame Iwam Frafafead 4 fra

ST 2 98. (a) State the chemical property in each case on which the following uses of

l “mm T & 15 g v ORI | g,./, W/WJ”””””’”’”"”""?
S 1117 11 (MR 4
24 “w -~ . , w " ““ - i . ]
(a) Q'é.'q = Seron Y arfireafs = frifa s & 17 i d ‘T HI T & 94. (a) “Proteins control the expression of various characters.” Explain this é
Y9 T g $9 $YF $1 =yrE Fifv | p) statement by taking an example of “tallness” as a characteristic in '
ST plants. 2
: OR
(b) wHisfis (931'3)%DN‘A%mﬁaﬁgﬁfﬁam$méﬁ$mmmﬁ % Tt B Wk | " . Sudlise /
et grr Iwah it 9 Tt | | xplain the mechanism of inheritance used by sexually reproducin
TSRt i Hrfafy ST HHTY - organisms to ensure the stability of DNA of the species. E é
25. (a YR 9 gferss %
(2) W " 1 e 1968 TR BNl 2 7 95. (a) How is brain protected in our body ?
, (b) el Sfet 3 3173w Mt # g g o6 g ST wHR Y WG T G T (b) A doctor finds in one of his patients that he is not maintaining a
i @A 4 3Ead 2 | AieTE & 39 89 F 91 g 37 um #1 |l e Hifore S 38 proper posture and balance of his body. State the region of brain and
l {7 It 2 | 2 also the part of brain which is responsible for it.
i
' 26. TE & THW I FHAl hI IF TAWdar FH Jei@ HiQ FFRT I1ET o= $1 FAT | 96. Write the percentage of the energy of sunlight captured by green plants,
qfafid =& F o suen st on § | e i i srufie ITHiee gR & Pt &l to convert it into food energy. Explain the fate of this energy when green
ET0 ST F T 3 S AR 9 plants are eaten by primary consumers.
SECTION -C
Qug -1
: : a & Question Nos. 27 to 33 are short answer type questions. Each
2 - 27 § 33 TY-3I 5 & | T T 3 A E | question carries 3 marks.
§ 97, =awE Ffe f vaga S SSEdT iR F4 g A6 € | 39 AR w1 TEEe
’ | 1 1o | 3 97. Explain why respiration is considered as an exothermic reaction. Give the
?

(i) UfgeFE9qH baking soda are based upon :
(i) 9T IS g9 | TETH & TU 4

(iii) ATET-37% TH9THRT J 3

(1) as an anti-acids

(i) as a constituent in making baking powder

(iii) in soda-acid fire-extinguishers

Y4l
OR

*31/6/3* *31/6/3*
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(b) 7 ¥ria & fore vramafyes wrfteor fifgu f F@ BT 2 /18 an fpedt

Yo% W01 8 & Y IeTE 1 919 ot iR | 3

29. %ﬁmﬁﬁqﬁﬁmaﬁ%ﬁmﬁu%mﬁﬁqqﬁﬁwmm%
uﬁﬁwﬁq&mmﬁaﬁmwaﬁﬂaﬁaﬁm%mﬁﬁmmm

fomar -
FAERE o6 @S9 1 gl (em) e @ wfafers i gt
1 ~ 90 + 18
2 - 60 + 20
3 — 40 + 24
4 ~ 30 + 30
5 ~- 24 + 40
6 ~ 20 + 60
7 ~ 18 + 90
8 =19 + 120
*31/6/3*
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(b) Write chemical equations to show what happens when an acid reacts
with a
(1) metal

(11) base and

(i11) carbonate

Write the name of the main product formed in each case.

99. A student placed a candle flame at different distances from a convex lens
and focused its image on a screen. He recorded his observation in tabular
form as given below :

Distance of flame Distance of the
S.No.
from the lens (cm) image from the lens
1 - 90 +18 = ¢ 7
2 - 60 + 20
3 - 40 + 24
4 - 30 430
5 - 24 + 40
6 - 20 + 60
7 ~ 18 +90 o
8 - 12 +120 - Nt
*31/6/3* [ AR AR
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| T 8 AT w1 Ry i T 3
} 50 o T heet 379+ farwetaor & YR T & far el Analyse the observation table and on the basis of your analysis only,
e T et 1 e USLE answer the following questions (without doing any calculations) :
i (@) 9T T I o BlIHa @W% ? 394 maﬂgﬁ%ﬁmww T | (a) What is the focal length of the convex lens used ? Give reason to
: , .
‘ (b) aﬁuﬁﬁqﬁﬂﬁﬁaﬁ?m@zﬁﬁqﬁg AR F 7 justify your answer.
I (c) & & fareft oft T Te gy 3 foru for s dieet sfafeas s97 2ise | 3 (b) Which one of the sets of observations is not correct and why ?
l
; (c) Draw ray diagram to show image formation for any correct set of
’ ) o o il ion. 3
; 30. (a) "WHElH S § FUHTE BR ATt 7 77 GRAfFEd e # b Faema s |/ Em SRREY RN
?
i FYAT AT |” 9 YA ] IRAT Y418 JRG F! A1 § HIT |
30. (a) “In human beings the genes inherited from the parents decide
(b) “F® g fom fraiwr & fau oof w9 4 ggfew w Rk =@ & 17 @ F97 H whether the newborn individual is male or female.”
3T Figd yfE hifaw | 3 Explain this statement with the help of a flow diagram.
(b) “Some animals rely on environmental cues for sex determination.”
31. 34 ¥ arfess @ am fafge i (i) sadafa wfn, (i) Reiiata S o Justily this statement giving an example. g
g d% o JTdl 8 | §ed o 39 H& &1 919 Wi fafgy o fasriedivfaa sftr ogor w5 2
FUT JeerE T 5 38 BE & ety SR @ sidetd 29 F R 31. Name the blood vessel that brings (i) oxygenated blood (i) deoxygenated
L i3 blood, to the human heart. Also name that chamber of the heart which
(FFHST) TF fFg TR IAT AT 2 | 3 , .
receives deoxygenated blood and state how deoxygenated blood from this
chamber is sent to lungs for oxygenation. P- l‘e R 3
- : \h.b -\
32. ®Ié =t a1l 3fE @ wviifea w3 % forg 3793 w98 § 0.5 D @wan & o 1 v TR £ P e
g FATE | 32. A person uses lenses of power —0.5 D in his spectacles for the correction of
. e X y
: his vision. '
(a) T2 =Afw forg gfe g & difea 2 3ge am fofey | \/
(a) Name the defect of vision the person is suffering from. o
(b) 39 G % g HROM I g T3 |
T (b) List two causes of this defect.
(c) 3 =8 5 3T fobQ Q<] il wieha gl fuife i | 3 (c) Determine the focal length of the lenses used in the spectacles. 3
*31/6/3* @ %31/6/3% ° [ P.T.O. ]
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93 (&) Tt & dtw v 1 dee 2 17 g o A s HRT

(b) ot forga ooy 3 9 few o vt R el & & 7 Yok &1 0 $ fafee | 3

JJ’@-'— ——W—

(11)

Qg -
T G134 Q 36 AH-IT T E | TS THF 5 75 ¢ |

34. (a) TEHIE & TETd F A # 7 el farg W gEehi & 1 e foew R it
1 St & 7 Frdt gRETE IAER G g 3G EHE &7 H JEhd &
@3t @ e Jifvn | 39 ded W (1) gRT aun (i) G & @il i e
Hiehd HIfT |
3 T FRE F A9 ferRaw fom w1 frdt arraTdt Fselt & T @3 B IRATT
ffrwma 2 | 5
e
(b) T TEEE &7 WU TH-gw F Ffaeved H A& Hdl 8 7 Tl et Hiedt
YTETE] GRATeTehT R 3eq=1 Jrashig &7 i g &7 {@I31 &l 39! femai

&1 guITd g¢ 3mfga Hifsy | afefeas & diat gaha g7 T@isti & 39 ded g
gEHg &7 & fawg 4 1 fepd fHehren s g&ar g 7

3 gl HWehi & A faftgu fm w afefaen & graehig a3 &1 ufmm fefis@r g | 5

~
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33. (a) Explain the statement “Potential difference between two points 18

1 volt”.

(b) What do the symbols given below represent in an electric circuit ?

Write one function of each. .
_.t@:_ —W_
(i) (11)
SECTION -D

Question Nos. 34 to 36 are long answer type questions. Each question

carries 5 marks.

34. (a) What are magnetic field lines ? How is the direction of magnetic field
at a point determined ? Draw the pattern of magnetic field lines of
the magnetic field produced by a current carrying circular loop. Mark

on it the direction of (1) current and (11) magnetic field lines.

Name the two factors on which the magnitude of the magnetic field

due to a current carrying coil depends. 5
OR

(b) Why can’t two magnetic field lines cross each other ? Draw magnetic
field lines showing the direction of the magnetic field due to a current
carrying long straight solenoid. State the conclusion which can be

drawn from the pattern of magnetic field lines inside the solenoid.

Name any two factors on which the magnitude of the magnetic field

due to this solenoid depends. 5

[:P.T.0. ]
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(b)  FE 577 5l e € 7 regy o e 1 whea ) sTEn HIRT |
(c) TR waHds gRI o 39k Tieh 3 wredl %1 R i 3 faftrat ferfaa |
HYT]
(a) Tordft feforft qsa & fnafaRaa wde st &1 we-ua %14 fafaT
@) T (TgE) (i) ST
(iii) afder (iv) IS

(b) Telerft 3R Ixafertt ST JhR & IodT o1 Teh-Teh I¢TEW0T ST | Fs=H & qvema
T goa | B4 a1t IREdH1 T Jooi@ HIT |

36. (a) Twdl U8 TF Tedigial 3T U wrai@qrers 370 &1 4W fofge et @@= 4 g
e THIY Bld 8 | 39! §lEATG WY 3R Ieor@ Hifoe f fora yer @ 34
UcehIaIcl i fohel SHTaladicTen 370 § Tiafdd fehal ST qehal 2 | 361 81T & 99 98
gl A foret s st Iufeufa o wem srfuferar +d € 7 ST Seoiftad gl
ST 4 B aTelt STATwI1sTt o Tamafe e fafeu |

HAGC

(b) WTEH T2 7 WG & V] h G fafE@e | g7 1 v gfman h e
HITT | 3R T & &1 § HUSl B! 914 & foIe a1 1 39qe @41 781 A7 7T
2 7 39 9 %1 fhg YR figerm Smar 2 2
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I

Name the method by which Amoeba and Leishmania reproduce.

] - e

Write a major difference in the way they divide to produce new

individuals.

What 1s asexual reproduction ? Explain the process of budding in

Hydra.

Give two methods used to grow rose and jasmine plants by

vegetative propagation. >
OR

Write one function each of the parts — (i) petals (ii) anther (ii1) style and

(iv) ovary of a bisexual flower.

Give one example each of a unisexual flower and a bisexual flower.

Mention the changes which a flower undergoes after fertilization. 5

Name an alcohol and a carboxylic acid having two carbon atoms 1n
their structures. Draw their structures and state how this alcohol
can be converted into a carboxylic acid. What happens when these

two compounds react in the presence of an acid ? Write chemical

T TN NN Y Y S N M O S ST A SN A N A NI N O N I N T T T e R N e R

equations for the reactions involved in the two cases mentioned
above. 5

heoh + & (Yo, (00"
OR (21l

What are soaps ? Write the structure of a soap molecule. Explain the
cleansing action of a soap. Why are soaps not considered suitable for

washing clothes in a region where water i1s hard ? How is this

problem overcomed ? 5

I PO

~
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37. IR, A 3R Moz Ieft wga- g urqd v wet (95) et & SR sh 1A

Many pure metals like copper, iron and gold are very soft and as such are

ST % foru Suges e wrt el # | TR = o Y anfe Tl I e ThH & 37.
ad, gfeal, smyw, s IR @t araa § g ugen @ T8 @ S € | 9SG g

considered unsuitable for certain uses. Metallic objects around us such as
cooking utensils, statues, ornaments, guns etc. are actually not made up

& WH W Ay Iraeh awgadt 6t srfmer & fisrgait w1 Iwam fear S @ |

of pure metals. Instead of pure metals, alloys are used in the design of

T T WS B .-

frsmgstl @ e 37 T % smurd o § wgfy S & 9 et g #1 g

most of the useful objects. Making alloys enhances the basic properties of

qucs | 4
w2 a metal which is the primary constituent (metal) of an alloy. 4
@) = et arg & foreft o At s1e9 wm1 F Femn S 2 q 38 g B+ ferega (I) How does electrical conductivity and melting point of a metal change
STeThdT 3T TTeiTeh § T Uiad+ grar g ? 1 when it is converted to its alloy by mixing a small amount of an
. . element in it ? 1
A1) foeht faga iy & 3 /i »1 wER g & Iwam fe 9™ aret fagrg &1 ™
: (I) Name an alloy used for welding two wires together in an electric
fafae | 3o+ yq@ ques foilaT | 1
circuit. Write its major constituents. 1
(I1D) (a) Toreg =1 € ? fiaer (Tah frsng) & &1 STaT 2 7 2
§ (III) (a) What are alloys ? How is ‘Brass’ (an alloy) prepared ? 2
I
§ HYET OR
III) (b) T8 & T8 ? 349 fopg TR ST 14T B ?mmwmm (III) (b) What is stainless steel ? How is it prepared ? Write one
%1 Jooi@ FITT 51 39 3 §oT UTq 1 g1 8§ HI9H T & a1 & fore important property which makes it more useful in making
e I9gRf g 2 | 9 cooking utensils as compared to its primary metal. 2
*31/6/3% Q [ P.T.O.]
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38. m%mﬁmq&mqﬁaﬁmmﬁmmaﬁﬁmww 38, The growth movements of plant parts in which the direction of the

stimulus determines the direction of the response is known as tropic

movements or tropism. Plants also have non-directional movements which

3
: 4
; may not be growth dependent. 4
:
J
i
FH: 3R FAe |l 1
@ & e o 7 ferfe formss Hrom X SRY gl R () Name the movement which causes X’ and Y’ to grow downwards and
(D) 39 g %1 T feriay fgehr () ofwt & frd qun (i) @ Fifre fowea 3 upwards respectively. 1
To@ Yfiret B 2 | 1 (II) Write the name of a hormone that plays a major role in (i) falling of
' leaves (11) rapid cell division |
A1) (a) d3¢ ey (FEqs &1 ) Hi afwal oot & sifa fo sgfran st € | o
, (IIT) (a) Leaves of the sensitive plant move very quickly in response to
%1 98 3199 FohT WhR TETRA 811 2 99T SR hifae o6 g 71fd fohd T
‘touch’. How i1s this stimulus of touch communicated and
gt 2 | 2
explain how the movement takes place. 2
OR
AII) (b) 3RIE T ETAA &M aTet UTed gHA 1 A feIf@n | 7@ 7@ arey i b (I1I) (b) Name the plant hormone which is synthesized at the shoot tip.
$1 IR 3'3731 4 fopg Yh X 98T AT 8 7 2 How does this hormone helps the plant to bend towards light ? 2
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39. Y MY qfrcm ST FYT Hifvg e @ wfedus X Y fores e ;3 2 39, Study the circuit shown in which two resistors X and Y of resistances 3 (2
6QEAfiF2V ! 920 Q g9ifvE 4 4 and 6 Q respectively are joined in series with a battery of 2 V. 4

| —

~ e
| [ — I
2V 2V
I U= ufuy smaE difae Red swie gt X 3R Y & e # wH &l q (I) Draw a circuit diagram showing the above two resistors X and Y
U TR 3R AreeHiex &1 ITANT Fh G foham T 2 | 1 joined in parallel with same battery and same ammeter and
: * voltmeter. 1
(1D wfdust % frg g § (1) X 3t Y & R w gum fawar=r g, @@ (i) X | gt . . . ST
(D) In which combination of resistors will the (i) potential difference
AR Y T & FEE O Sated gt ? s across X and Y and (ii) current through X and Y, be the same ? 1
AI) (a) T sl (X 3R Y) & Foft g9 g et & <ft mft g e A | - dID) (a) Find the current drawn from the battery by the ser 1e8
— combination of the two resistors (X and Y). 2
: OR
(IID) (b) <FT wfedegei (X 3R Y) % qrvd gareH F1 ged wfaary fFgiia i | 2
(III) (b) Determine the equivalent resistance of the parallel combination
of the two resistors (X and Y). 2

*31/6/3* *31/6/3%




